	Math MCU
	2.3 Population Problems


Exponential functions can be used to predict the growth or decline of a population.
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Ex:
An old country house contains 8 mice.  The mice double in population every month.  How many mice will there be in 4 months? (growth question)
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There will be 128 mice in 4 months.

Ex:
During the hunting season in a game reserve, the population of moose decreases by half every week.  If there are 260 moose to begin with, how many will there be after 5 weeks? (decline question)
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There will be roughly 8 moose in 5 weeks.

Ex:
A Petri dish contains 34 cancer cells.  The number of cells increases 1.5 times every day.  How many cells will there be in 17 and a half days?
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There will be roughly 41027 cancer cells in 17.5 weeks
Ex:
A field with an area of 2000m2 is covered in snow but the area covered is melting such that there is only 95% left every day.  How long will it take for there to be 1470m2 left?
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It will take roughly 6 days for there to be 1470m2 of snow left.
	HW:  page 63 (7), page 65 (activity 8)


� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








_1326728971.unknown

_1327052690.unknown

_1327053335.unknown

_1327053417.unknown

_1327053459.unknown

_1327052790.unknown

_1326729037.unknown

_1326729367.unknown

_1326729427.unknown

_1326728997.unknown

_1326728585.unknown

_1326728893.unknown

_1326728910.unknown

_1326728605.unknown

_1326727084.unknown

